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Model Test One

Part I Listening Comprehension
Section A .

Directions: In this section, you will hear 10 short conversations. At the end
of each conversation, a question will be asked about what was said. Both the
conversation and the question will be spoken only once. After each question
there will be a pause. During the pause, you must read the four choices
marked A., B., C. and D., and decide which is the best answer. Then
mark the corresponding letter on the Answer Sheet with a single line through
the cenire.
Example: You will hear:
You will read;

A. At the office.

B. In the waiting room.

C. At the airport.

D. In a restaurant.

From the conversation we know that the two were talking about some
work they had to finish in the evening. This is most likely to have taken place
at the office. Therefore, A. “At the office” is the best answer. You should
choose [ A] on the Answer Sheet and mark it with a single line through the cen-
tre.

Sample Answer (A} [B] [C] [D]

1. A. He lent her his extra pen.
B. He was afraid of losing his pen.
C. He offered her a pencil.
D. He said he didn’t have any extra ink.
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. The teacher reviewed a previous lesson.

The teacher taught a new lesson.

The teacher postponed the class until Friday.
. The teacher made the students write in class.
Go right into the office.

Come back at four.

Wait a short time.

Change the appointment.

. The new teacher is sick.

He hasn’t met the teacher yet.

There are three new teachers.

. He didn’t like the teacher.

. She probably hurt her finger.

She probably hurt her head.

She probably got hurt in a traffic accident.

. She probably hurt her foot.

6. Play football in Brazil. B. Leave Brazil.
Quit playing football. D. Find another job.
7. He relaxes. B. He goes fishing.
He goes to work. D. He works at home.
8. 3:40 B. 4:00 C. 4:20 D. 3:20
9. A. Getting a sunbathing. B. Swimming.
. Taking a bath. D. Planting something.
10.A. looking for water. B. planting something.
. looking for something. D. getting dirty.
Section B

Directions: In this section, you will hear 3 short passages. At the end of each
passage , you will hear some questions. Both the passage and the questions will
be spoken only once. After you hear a question, you must choose the best an-
swer from the four choices marked A., B., C. and D.. Then mark the cor-
respo.iding letter on the Answer Sheet with a single line through the centre.
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Passage 1
Questions 11 to 13 are based on the passage you have just heard.

11. Travelling

Reading novels.

. Watching movies and looking at photographs.

Listening to the radio.

They tell us stories and important historical happerings.

They record the actions and habits of ordinary people in the world.
They reveal the living forms and objects i distant space to us
They represent objects scientifically

. The advantage of watching mowvies.

The convenient way of travelling.

12.

13.

. The pnnciples of movies and cameras.
Leaming through movies and cameras.

Passage 2

COoOmPOOEPUOR S

Questions 14 to 16 are based on the passage you have just heard.

14. Faculty. B. Staff.

New students. D. Applicants for jobs.

International houses B. Spanish houses.

Women’ s houses. D. Student dorms.

Fill cut application forms. B. Buy a meal ticket,
D

Move into the house. . Visit the Spanish house.

15.

16.

OPOPOP

Passage 3

Questions 17 to 20 are based on the passage you have just heard.

17 A Very often. B. Occasionaily.
C Extremely rarely D Never.
18 A In deep water B At the bottom of the sea

.3 .
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C. In crowded water. D. In shallow water.

19. A. 70%. B. 20%. C. 17%. D. Few of them.

20. A. Shark nets. B. Electric fences.
C. Lighthouses. D. Look-out towers.

Section C  Spot Dictation

Directions: In this section, you will hear a passage of about 190 words three
times. The passage is printed on your Answer Sheet with about 70 words miss-
ing. First, you will hear the whole passage from the beginning to the end just
to get a general idea of it . Then, in the second reading , you will hear a sig-
nal indicating the beginning of a pause after each sentence, sometimes two sen-
tences or just part of a sentence. During the pause, you must write down the
missing words you have just heard in the corresponding space on the Answer
Sheet. There is also a different signal indicating the end of the pause. When
you hear this signal , you must get ready for what comes next from the record-
ing. You can check what you have written when the passage is read to you once
again without the pauses .

Long ago men learned that the world of nature is built (21)
1 every bee strokes its wings exactly 440 times a second to propel itself
forty miles an hour; the eye of every (22)
; every spider’s thread (23) . The progress of civi-

lization itself can be measured by its range of mathematics. (24)
and the Greeks used trigonometry (25)
two thousand years before. European civilization combined geometry and
trigonometry (26) with which the Europeans explored
the world in a later century. In 1492 Columbus sailed. Mathematicians studied
the pendulum of the newly invented clock (27)
to measure motion. The yardstick of measurement today must cover everything
(28) to distances of millions of light years.
(29) . In navigating amid planets and stars, man

must have the help of some kind of machine calculators (30)
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Part II Reading Comprehension

Directions: There are four reading passages in this part. Fach passage is fol-
lowed by some questions. For each question there are four suggested answers
marked A,B,Cand D. You should choose the One best answer and blacken the
corresponding letter on the ANSWER SHEET with a pencil .

Questions 31 — 35 are based on the following passage:

The English policeman has several nicknames but the most frequently used
are “copper” and “bobby”. The first name comes from the verb to “cop”
{which is also slang) , meaning to “take” or “capture”, and the second comes
from the first name of Sir Robert Peel, the nineteenth-century politician, who
was the founder of the police force, as we know it today. An early nickname for
the policeman was “peeler”, but this one has died out.

Whatever we may call them, the general opinion of the police seems to be a
favorable one; except, of course, among the criminal part of the community
where the police are given more derogatory nicknames which originated in
American such as “fuzz” or “pig”. Visitors to England seem, nearly always to
be very impressed by the English police. It has, in fact, become a standing joke
that the visitor to Britain, when asked for his views of the country, will always
say, at some point or other, [ think your policemen are wonderful. ’

Well, the British bobby may not always be wonderful but he is usually a
very friendly and helpful sort of character. A music-hall song of some years ago
was called, “If You Want To Know the Time, Ask A Policeman”. Nowadays,
most people own watches but they still seem to find plenty of other questions to
ask the policeman. In London, the policemen spend so much of their time di-
recting visitors about the city that one wonders how they ever find time to do
anything else!

Two things are immediately noticeable to the stranger, when he sees an
English policeman for the first time. The first is that he does not carry a pistol

and the second is that he wears a very distinctive type of headgear, the police-
man’s helmet. His helmet, together with his height, enables an English police-
man to be seen from a considerable distance, a fact that is not without its useful-
ness. From time to time it is suggested that the policeman should be given a pis-
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tol and that his helmet should be taken from him, but both these suggestions are
resisted by the majority of the public and the police themselves.
31. Nowadays British people call the policeman ___ .
A. Pig B. Peeler C. Fuz D. Bobby
32. Which of the following statements is true?
A. There are fewer criminals in America than in Britain.
B. The English police usually leave a deep impression on visitors.
C. The British bobby is friendly but not helpful.
D. The English police enjoy having pistols.
33. I you see an English policeman for the first time, you will probably notice
at once that ___.
A. he often tells people time B. he is usually very helpful
C. he has a helmet on his head  D. he wears special clothes
34. That an English policeman can be seen from some distance is ____.
A. of some help to people B. of no help to people
C. very strange and funny D. a standing joke
35. Visitors praise the English police because ____.
A. they are armed with modern equipment
B. they obey orders
C. they are often given thanks by pecple
D. they are polite and helpful

Questions 36 ~ 40 are based on the following passage:

Frankiln was always trying to answer the question: what makes things act
the way they do? At that time learned men were puzzed sbout electrictiy. They
wondered whether it was in some way like the lightning in a thunderstorm. It
might be,- but how could you prove it? You know how Ben Franklin proved it—
by coaxing some electricity down his kite string. That act made him famous in
America and Europe. But of course Franklin did not stop there. He found a way
to make the knowledge useful: he invented the lightning rod.

Franklin would gladly have spent the rest of his days in quiet study and re-
search. But he was a very important person now, and the country needed him
for public service.

Disagreement between the colonies and the British was becoming quite seri-



